
Time: 10 Minutes Paper Math 4 (T-1) Total Marks: 10

1st Month, 3rd Week, 2nd  Day Multiplication and division 
Q.No.1. Choose the correct option: (1 x 3 = 3) 
i) If the price of one booke is Rs. 250, then the price of 22 books will be:

 22  250 
(a) Rs. 5 555  5 555 (b) Rs. 5 505  5 505

(b) Rs. 5 500  5 500 (c) Rs. 5 000  5 000

ii) Saad walks 323 steps everyday. How many steps he walk in one month?

 323 
(a) 5 960 (b) 6 960 (c) 7 880 (d) 9 690

iii) If the price of one bag is Rs. 1 365, than what will be the price of 15 bags?

 15  1 365 
(a) Rs. 20 475 (b) Rs. 30 325 (c) Rs. 25 875 (d) Rs. 15 395

Q.No.2.A School has 300 students. How many students will be there in  fifty
schools? (1 x 2 = 2)

 50  300 
_________________________________________________________________

_________________________________________________________________

Q.No.3. A shopkeeper sales 34 523m cloth in a week. How much cloth will he
sell in 21 weeeks? (1 x 2 = 2)

 21  34 523 
_________________________________________________________________

_________________________________________________________________

Q.No.4.Majid earns Rs. 11 045 in a day. Find, (1 x 3 = 3)

 11 045 
a) how much money will he earn in 365 days?

 365 
_________________________________________________________________

_________________________________________________________________

b) how much money will he earn in 2 years?

 2 
_________________________________________________________________

_________________________________________________________________
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